1. V72+2vV8- V50 =aV2 oA a 9 gk Fotofzt.

V6Xx6x2+2V2x4— VEx5x2
=6V2+4V2-5V2=5V2=0aV2

SLa=>95




A x o tiate] yx Bk 2L 2
UERH N(1) 4+ N(2) + N(3) + -
e Fotelet

=
’B
_|_
_|_
E
—
S
I
w
X
\]
I
[N}
=

N(1 )+N(17)—4><2:8
— 179 W, A




1

— — o] 1 1 1 o O
fx)=Vx—T1+Vx ¥ Uﬂ,f(l) +f(2) +f(3) + +f(50) o] 72
“Fotod et
> =

> He: 52

B

1 1
f) T xR+ Vx-1
_ (vx-Vx-1)
(Vx+ Va=T)(va- Vx-T)
_ (Vx-Va-T1)
x—(x-1)
LI X— Vx—
B
(FOARA) =1-0+ V2-1+ V3- V2
+--- 4 V50— V49
= V50
=52




shelat.

q_

O
=

, Va+ Vb o] 7k

k13
=

b 2t1l

=1
T=

-

ul

oA g =16, b =4 o]t}
16+ V4 =6

49

3<x< —
Va +

3
Vb




=
1o
B>
>
4
e
ftlo
Q

1 _
oA aT e bet B, (a43)x-(b-3)y = 1

SHe R85 v, y © 2 242 Patelet,

o
=

Y
o]

v V. v V¥
0x
i

0
o

D= =

1<V2<2090]B2 g=+2-1

1
;z«/§+1°]i,2< V2+1<30B2p=1+2-1

(a+3)x (b-3)y =11 212 5t
(V2+2)x— (V2-4)y=1
(x=y)V2+ (2x+4y-1)=0

Wt x—y =0, 2x+4y-1=0< dH}H x=y =




